— . BAIONES - dis /_\\
b AATZT0 - ks (A i
| | #2019 - 3ks T WL = AN O
d N 22T - Tk ()

PPIO - 4l
PPIZ-2ks [A)
PPIZ -4k [A)

M35

MIZE 1T - 3ks
M1 222 - Tk

M 1035

ALDEAZ VOLES WAGEN GOLE 5, VOLKIWAGEN GOLFPLUS - A058Es/C - 3001 2008

K120

. PAPKOINOB

NAVOD NA MONTAZ:

. 1.Uvolnite ¢altinenie po stranach a demontujte zadné svetla. I 2.Demontujte zadny
plastovy naraznik a kovewi wstuhu naraznika. I 3.0dlepte folie'montaZnych otvorov na
pozdiznych nosnikoch vozidia. l 4 Nasurite ram do nesnikov karoserie. Do montaznych
otvorov vioZte upeviiovacie skrutky M10x35 s 'pruznymi a hladkymi pedlozkami podra
obrézku. Skrutky utiahnite kratiacim momentom podra tabulky. l 5.Demontujie
spojovaciu gulu. . 6.Vyrezte vybrania do naraznfka na drziak spojovacej gule a
elektrozasuvky — detail Golf. . 7.Namontujte spat zadny plastovy naraznik bez kovovej
vystuhy, ktorl nahradza ram tazného zarladema 8 ] evmte zasuyj
drziak. Prevleéte zvazok vodico! n stra
gumovu prechodku. Vodice zap la (*ut
elektroinstalacie. . 10.Prevedte spatnt montaz dalsmh demomovanych casu
11.Namontujte spojovaciu gulu. Dotiahnite skrutky sp:

ojgvacej gule
(drziaka spojovacej gule) kruum gf ko p

FITTING INSTRUCTIONS:

. 1. Release the padding from both sides and remove back lights. . 2. Dismount
bumper and metallic reinforcement beam of bumper. The beam will no longer be used.
Il 3. Remove foils from holes on the frame side beams of vehicle. ] 4. Insert the tow bar
into the consoles of the bodywork. Put M10x35 bolts with spring and smooth washers
into holes against the picture. Tighten the bolts using a torque-wrench to the specified
torque. . 5. Dismount the coupling ball. . 6. Make a recess in the bumper for coupling
ball holder and electrical socket as shown in the detail Golf. J] 7. Re-mount the bumper
without reinforcement beam. It is supplied now with the tow bar. ] 8. Fix the socket plate
on the folding holder. Thread the electrical installation wires through gummy hole from
outside the vehicle to inside. Link up wires according to the manual. . 9. Check
accuracy of electrical installation connecting. . 10. Accomplish re-mounting of all the
dismounted parts. . 11. Mount the coupling ball. Tighten the bolts and nuts using a
torque-wrench to the specified torque.

na sklo bnom stltk azneho zariadenia.
1agIc p T
tabuiky utahovamch moment

DOLEZITE UPOZORNENIA:

-V miestach stykevych ploch sa musi edstranit. pruzna.ochrana
karosérie vozidla:

- Vitané otvery treba osetfit' antikor6znou. hmoteu.

- Pouzite len dodany spojovacimaterial v predpisanej triede kvality.

- Elektrické zariadenie 'sasnamontuje‘podla podmienokiprevadzky
cestnych vozidiel na pczemnych komunikaciach.

- Udaj S o maximéalnom zvislom zataZeni na gulu je uvedeny na

i menit.
Setky spoje podla

rlpade akychkol’vek nejasnostf je nutné obratit sa na vyrobcu
pouZitim vyrobku.

E XU crim
IMPORTANT ATTENTIONS:

- Remove insulating material on a car body in grips and joints of a
coupling device with a car body.

- Put the anticorrosive substance on the drilled holes.

- Use supplied mechanical strength jointing material.

- Wiring of a coupling device must be up to a standard and car maker
requirements.

- Statement S about the maximum vertical ball downtake is printed on
the tow bar label.

- On the tow bar is no modification possible

- Check all the joints, look in the table of the spining moments, before
finishing the montage!

- Contact the tow bar marker with any questions.

- The manufacturer is not responsible for the damages caused by
wrong using on the product.

Tabulka utahovacich momentov skrutkovych spojov pevnosti 8.8 / Table of specified torque and hardenss settings 8.8
M6 - 9,5Nm, M8 - 23Nm, M10 - 46Nm, M10x1,25 - 49Nm, M12 - 79Nm, M12x1,25 - 87Nm, M12x1,5 - 83Nm, M14 - 125Nm, M16 - 195Nm



http://magfarkop.ru/

